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4 CONTENTS

1 ”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”5986|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”1961” x-morph=”OSHM:HVqp3ms”

”strong=”b/5349|����������/�� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”m/8620|���������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”2372|������
x-morph=”OSHM:HVqp3ms” strong=”5921|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.1” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”0.1.1.0” � ”strong=”5818|���������
x-morph=”OSHM:HNp” 1 Marks a place where we agree with BHQ against
BHS in reading L. 2 3 ”strong=”4428|������� x-morph=”OSHM:HNcmsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”c/b/3117|�����/��/��
x-morph=”OSHM:HC/R/Ncmpc” x-cantillationLevel=”0.1.0.0” ”strong=”3379|����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”3101”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”8141|����������� x-morph=”OSHM:HNcfda”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”d/7494|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2”
� ”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”m/6726|��������/�� x-morph=”OSHM:HR/Np” 4Marks a place
where we agree with BHQ against BHS in reading L. 5 6 ”strong=”7580|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1” ”strong=”c/m/3389|������������/��/��
x-morph=”OSHM:HC/R/Np” x-cantillationLevel=”1.0” ”strong=”5414|�������
x-morph=”OSHM:HVqi3ms” strong=”6963|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/56|���������/�� x-morph=”OSHM:HC/Vqp3cp”
x-cantillationLevel=”0.1.0” ”strong=”4999|������� x-morph=”OSHM:HNcfpc”
strong=”d/7462|�������/�� b” x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.1”
”strong=”c/3001|�������/�� x-morph=”OSHM:HC/Vqp3ms” x-cantillationLevel=”0.0”
strong=”7218|������ a” x-morph=”OSHM:HNcmsc” ”strong=”d/3760|���������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� � 3 ”strong=”3541|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”559|������ x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”7969”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1.0” ”strong=”6588|����������
x-morph=”OSHM:HNcmpc” ”strong=”1834|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������������|strong=”702”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
1Q
2n Marks an anomalous form.
3p We read punctuation in L differently from BHS.
4Q
5n Marks an anomalous form.
6p We read punctuation in L differently from BHS.
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x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”�/���������|strong=”1758”
x-morph=”OSHM:HVqc/Sp3mp” x-cantillationLevel=”0.0.0” strong=”b/2742|���������/���
a” x-morph=”OSHM:HRd/Ncmpc” ”strong=”d/1270|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/1568”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 4 ”strong=”c/7971|�������������/��
x-morph=”OSHM:HC/Vpq1cs” ”strong=”784|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0” strong=”b/1004|�����/��� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”2371|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.0”
”strong=”759|����������� x-morph=”OSHM:HNcmpc” ”+strong=”1130|����
x-morph=”OSHM:HNp”�������|strong=”1130” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 5 ”strong=”c/7665|�������������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”1.2.0” ”strong=”1280|��������� x-morph=”OSHM:HNcmsc”
”strong=”1834|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vhq1cs” ”strong=”3427|��������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0” ”strong=”m/1237|��������/��
x-morph=”OSHM:HR/Np”�������|strong=”206” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/8551|��������/�� x-morph=”OSHM:HC/Vqrmsc”
”strong=”7626|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”m/1004|������/�� b” x-morph=”OSHM:HR/Np” strong=”5730|������
b” x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1540|������/��
x-morph=”OSHM:HC/Vqq3cp” strong=”5971|��� a” x-morph=”OSHM:HNcmsc”�������|strong=”758”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” strong=”7024|�/������
b” x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 6 ”strong=”3541|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.2.0” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”7969”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1.0” ”strong=”6588|����������
x-morph=”OSHM:HNcmpc” ”strong=”5804|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������������|strong=”702”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”�/�����������|strong=”1540”
x-morph=”OSHM:HVhc/Sp3mp” x-cantillationLevel=”0.0.0” ”strong=”1546|��������
x-morph=”OSHM:HNcfsa” ”strong=”8003|��������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”0.0” ”strong=”l/5462|����������/�� x-morph=”OSHM:HR/Vhc”
”strong=”l/123|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
7 ”strong=”c/7971|�������������/�� x-morph=”OSHM:HC/Vpq1cs” ”strong=”784|�����
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0” ”strong=”b/2346|�������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”5804|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs”
x-cantillationLevel=”0.0” ”strong=”759|��/������������ x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0”� 8 ”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”3427|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0”
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”strong=”m/795|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/8551|��������/�� x-morph=”OSHM:HC/Vqrmsc” ”strong=”7626|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”m/831|������������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/7725|�������������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”6138”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”c/6|���������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.1.0” ”strong=”7611|����������
x-morph=”OSHM:HNcfsc” ”strong=”6430|�������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.1” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 9 ”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”5921|��� a” x-
morph=”OSHM:HR”�����������|strong=”7969” x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.1.0” ”strong=”6588|��������� x-morph=”OSHM:HNcmpc”�����|strong=”6865”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”������������|strong=”702” x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7725|����/���������
x-morph=”OSHM:HVhi1cs/Sp3ms” x-cantillationLevel=”1” strong=”5921|����
a” x-morph=”OSHM:HR”�/������������|strong=”5462” x-morph=”OSHM:HVhc/Sp3mp”
x-cantillationLevel=”0.1.0.0” ”strong=”1546|�������� x-morph=”OSHM:HNcfsa”
”strong=”8003|��������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1.0”
”strong=”l/123|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”2142|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” ”strong=”1285|��������
x-morph=”OSHM:HNcfsc” ”strong=”251|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 10 ”strong=”c/7971|�������������/�� x-morph=”OSHM:HC/Vpq1cs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0”
”strong=”b/2346|�������/��� x-morph=”OSHM:HR/Ncfsc” ”strong=”6865|����
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.0” ”strong=”759|��/������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0”� � 11 ”strong=”3541|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”559|������ x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”7969”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1.0” ”strong=”6588|����������
x-morph=”OSHM:HNcmpc” ”strong=”123|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������������|strong=”702”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”7291”
x-morph=”OSHM:HVqc/Sp3ms” ”strong=”b/2719|������/�� x-morph=”OSHM:HRd/Ncfsa”
”strong=”251|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.2.0”
”strong=”c/7843|�������/�� x-morph=”OSHM:HC/Vpp3ms” strong=”7356|�/��������
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b” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.2” ”strong=”c/2963|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/5703|����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/5678|��/��������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”8104|�/�������� x-morph=”OSHM:HVqp3ms/Sp3fs”
”strong=”5331|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”c/7971|�������������/�� x-morph=”OSHM:HC/Vpq1cs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0”
”strong=”b/8487|�������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.0”
”strong=”759|����������� x-morph=”OSHM:HNcmpc” ”strong=”1224|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 13 ”strong=”3541|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”559|������ x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”7969”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.1.0” ”strong=”6588|����������
x-morph=”OSHM:HNcmpc” strong=”1121|������ a” x-morph=”OSHM:HNcmpc”���������|strong=”5983”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”������������|strong=”702” x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7725|����/���������
x-morph=”OSHM:HVhi1cs/Sp3ms” x-cantillationLevel=”1” strong=”5921|���
a” x-morph=”OSHM:HR”��/��������|strong=”1234” x-morph=”OSHM:HVqc/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”2030|������� a” x-morph=”OSHM:HAafpc”
”strong=”d/1568|���������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.1”
”strong=”4616|�������� x-morph=”OSHM:HR” x-cantillationLevel=”0.0”
”strong=”7337|��������� x-morph=”OSHM:HVhc” ”strong=”853|��� x-
morph=”OSHM:HTo”�/����������|strong=”1366” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 14 ”strong=”c/3341|����������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”784|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1.0”
”strong=”b/2346|�������/��� x-morph=”OSHM:HR/Ncfsc” ”strong=”7237|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/398|��������/��
x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”1.0” ”strong=”759|��/�������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1” ”strong=”b/8643|���������/���
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”4421|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” strong=”b/5591|������/��� a” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
strong=”5492|������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”
7 Marks a place where we agree with BHQ against BHS in reading L. 8 9 15
”strong=”c/1980|�������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”4428|�/��������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”b/1473|��������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1” ”strong=”1931|�����

7Q
8n Marks an anomalous form.
9p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HPp3ms” ”strong=”c/8269|�/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”0.0.0” strong=”3162|��������� b” x-morph=”OSHM:HD”
x-cantillationLevel=”0.0” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�2 ”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0”

”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”5921|��� a”

x-morph=”OSHM:HR”�����������|strong=”7969” x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.1.0” ”strong=”6588|���������� x-morph=”OSHM:HNcmpc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������������|strong=”702”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7725|����/��������� x-morph=”OSHM:HVhi1cs/Sp3ms”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”8313”
x-morph=”OSHM:HVqc/Sp3ms” x-cantillationLevel=”0.0.0” ”strong=”6106|���������
x-morph=”OSHM:HNcfpc” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”123”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/7875|�������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 2 ”strong=”c/7971|������������/��
x-morph=”OSHM:HC/Vpq1cs”������|strong=”784” x-morph=”OSHM:HNcbsa”
”strong=”b/4124|�������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”1.0”
”strong=”759|����������� x-morph=”OSHM:HNcmpc” ”strong=”d/7152|�����������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1” ”strong=”c/4191|����/��
x-morph=”OSHM:HC/Vqq3ms” ”strong=”b/7588|��������/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”b/8643|���������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.0” strong=”b/6963|�����/��� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”7782|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
3 ”strong=”c/3772|�����������/�� x-morph=”OSHM:HC/Vhq1cs” ”strong=”8199|��������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0” ”strong=”m/7130|��/���������/��
x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/3605|���/��
x-morph=”OSHM:HC/Ncmsc”��/��������|strong=”8269” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.0.0” ”strong=”2026|��������� x-morph=”OSHM:HVqi1cs”
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x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”������������|strong=”702”
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x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-cantillationLevel=”0.1.1” ”strong=”3212|���������
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x-cantillationLevel=”1.0” ”strong=”8478|����/��������� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
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x-cantillationLevel=”0.0.0” strong=”834|������� a” x-morph=”OSHM:HTr”�����|strong=”3808”
x-morph=”OSHM:HTn”����������|strong=”4305” x-morph=”OSHM:HVhi3fs”
strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0”
”strong=”3001|��������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0”�
8 ”strong=”c/5128|������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.0.0.1”
”strong=”8147|���������� x-morph=”OSHM:HAcfda” ”strong=”7969|��������
x-morph=”OSHM:HAcfsa” strong=”5892|������� b” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0.0.0” ”strong=”413|��� x-morph=”OSHM:HR”������|strong=”5892
b” x-morph=”OSHM:HNcfsa” ”strong=”259|������ x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.0.0” ”strong=”l/8354|���������/�� x-morph=”OSHM:HR/Vqc”
”strong=”4325|������ x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”7646|������������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”�����������|strong=”7725” x-morph=”OSHM:HVqp2mp”
”strong=”5704|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 9 ”strong=”5221|����������
x-morph=”OSHM:HVhp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.1.0” strong=”b/7711|������������/��� b” x-morph=”OSHM:HRd/Ncmsa”
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”strong=”c/b/3420|����������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.1” strong=”7235|���������� a” x-morph=”OSHM:HVhc”
”strong=”1593|����/���������� x-morph=”OSHM:HNcfpc/Sp2mp” ”strong=”c/3754|����/�������/��
x-morph=”OSHM:HC/Ncbpc/Sp2mp” x-cantillationLevel=”1.0.0” ”strong=”c/8384|����/�������/��
x-morph=”OSHM:HC/Ncfpc/Sp2mp” ”strong=”c/2132|����/������/��
x-morph=”OSHM:HC/Ncmpc/Sp2mp” x-cantillationLevel=”1.0” ”strong=”398|�������
x-morph=”OSHM:HVqi3ms” ”strong=”d/1501|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�����������|strong=”7725”
x-morph=”OSHM:HVqp2mp” ”strong=”5704|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 10 ”strong=”7971|�������������
x-morph=”OSHM:HVpp1cs” ”strong=”b|����/�� x-morph=”OSHM:HR/Sp2mp”
”strong=”1698|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
”strong=”b/1870|�������/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”2026|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”b/2719|�������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.1.0” ”strong=”970|����/���������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”1.1” strong=”5973|���� a” x-morph=”OSHM:HR” x-
cantillationLevel=”1.0” strong=”7628|������� a” x-morph=”OSHM:HNcbsc”
strong=”5483|����/������� b” x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1”
”strong=”c/5927|��������/�� x-morph=”OSHM:HC/Vhw1cs” x-cantillationLevel=”0.1.0.0”
”strong=”889|�������� x-morph=”OSHM:HNcmsc” ”strong=”4264|����/�������
x-morph=”OSHM:HNcbsc/Sp2mp” x-cantillationLevel=”0.1.0” ”strong=”c/b/639|����/�����/��/���
x-morph=”OSHM:HC/R/Ncmsc/Sp2mp” x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”�����������|strong=”7725” x-morph=”OSHM:HVqp2mp”
”strong=”5704|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 ”strong=”2015|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”b|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2.1” ”strong=”k/4114|�����������/��� x-morph=”OSHM:HR/Ncfsc”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”5467” x-morph=”OSHM:HNp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������|strong=”6017”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw2mp” x-cantillationLevel=”1.1” ”strong=”k/181|�����/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0” ”strong=”5337|�������
x-morph=”OSHM:HVHsmsa” ”strong=”m/8316|���������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1” 10 Marks a place where we agree with BHQ against
BHS in reading L. 11 12 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�����������|strong=”7725”
x-morph=”OSHM:HVqp2mp” ”strong=”5704|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 12 strong=”l/3651|����/��

10Q
11n Marks an anomalous form.
12p We read punctuation in L differently from BHS.
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c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1” ”strong=”3541|�����
x-morph=”OSHM:HD” strong=”6213|�������� a” x-morph=”OSHM:HVqi1cs”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”6118|������ x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC”������|strong=”2063” x-morph=”OSHM:HPdxfs”
strong=”6213|��������� a” x-morph=”OSHM:HVqi1cs”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1” strong=”3559|��������
a” x-morph=”OSHM:HVNv2ms” ”strong=”l/7125|������/�� x-morph=”OSHM:HR/Vqc”��/���������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 13 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.2.1.1” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”3335|������� x-morph=”OSHM:HVqrmsa”
”strong=”2022|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.1.0”
strong=”c/1254|������/�� a” x-morph=”OSHM:HC/Vqrmsa” ”strong=”7307|������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.2.1” ”strong=”c/5046|��������/��
x-morph=”OSHM:HC/Vhrmsa” ”strong=”l/120|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”4100|��� x-morph=”OSHM:HTi”��/�������|strong=”7808”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsc” ”strong=”7837|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”5890|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/1869|�������/�� x-morph=”OSHM:HC/Vqrmsa”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”1116”
x-morph=”OSHM:HNcfpc” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|�������� x-morph=”OSHM:HNcmpc”����������|strong=”6635
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0” ”strong=”8034|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� �5 ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”0.0.1.0”

”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”

x-cantillationLevel=”0.0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”595|�������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0.0.0”
”strong=”5375|������� x-morph=”OSHM:HVqrmsa” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0.0” ”strong=”7015|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 2 ”strong=”5307|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”3254”
x-morph=”OSHM:HVhi3fs” strong=”6965|����� b” x-morph=”OSHM:HVqc”
x-cantillationLevel=”1.1” ”strong=”1330|���������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”5203|���������� x-morph=”OSHM:HVNp3fs”
strong=”5921|��� a” x-morph=”OSHM:HR”��/����������|strong=”127”
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” strong=”6965|��/�������� b” x-morph=”OSHM:HVhrmsc/Sp3fs”
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x-cantillationLevel=”0”� 3 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3541|���� x-morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”3069|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0.0”
”strong=”d/3318|��������/�� x-morph=”OSHM:HTd/Vqrfsa” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.0” ”strong=”7604|�����������
x-morph=”OSHM:HVhi3fs” ”strong=”3967|������ x-morph=”OSHM:HAcbsa”
x-cantillationLevel=”1” ”strong=”c/d/3318|���������/��/�� x-morph=”OSHM:HC/Td/Vqrfsa”
”strong=”3967|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.0.0”
”strong=”7604|����������� x-morph=”OSHM:HVhi3fs” ”strong=”6235|���������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0” strong=”l/1004|�����/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 4 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3541|���� x-morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”l/1004|�����/�� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”1875|���/���������� x-morph=”OSHM:HVqv2mp/Sp1cs” x-
cantillationLevel=”0.0” ”strong=”c/2421|������/��� x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”0”� 5 ”strong=”c/408|����/�� x-morph=”OSHM:HC/Tn”�������������|strong=”1875”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1.2.0” ”+strong=”1008|������
x-morph=”OSHM:HNp”�����|strong=”1008” x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/d/1537|����������/��/�� x-morph=”OSHM:HC/Td/Np” x-
cantillationLevel=”1.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”935|��������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.1” ”+strong=”c/884|������/��
x-morph=”OSHM:HC/Np” ”strong=”884|������� x-morph=”OSHM:HAcfsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” strong=”5674|����������
a” x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”d/1537|����������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0.1.0” ”strong=”1540|������� x-morph=”OSHM:HVqa”
”strong=”1540|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1”
”+strong=”c/1008|�����/�� x-morph=”OSHM:HC/Np”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” ”strong=”l/205|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 6 ”strong=”1875|���������� x-morph=”OSHM:HVqv2mp”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/2421|������/��� x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”1” ”strong=”6435|���� x-morph=”OSHM:HC”���������|strong=”6743
a” x-morph=”OSHM:HVqi3ms” ”strong=”k/784|�����/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”3130|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” ”strong=”c/369|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”3518” x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”0.0” ”+strong=”l/1008|�����/�� x-morph=”OSHM:HR/Np”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 7 ”strong=”d/2015|���������/��
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x-morph=”OSHM:HTd/Vqrmpa” ”strong=”l/3939|��������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”4941|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/6666|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
”strong=”3240|���������� x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0”�
8 strong=”6213|������� a” x-morph=”OSHM:HVqrmsc” ”strong=”3598|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0” ”strong=”c/3685|�������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.1” ”strong=”c/2015|�������/��
x-morph=”OSHM:HC/Vqrmsa” ”strong=”l/1242|��������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”6757|���������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/3117|�����/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”3915|�������� x-morph=”OSHM:HNcmsa”
”strong=”2821|����������� x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1”
”strong=”d/7121|��������/�� x-morph=”OSHM:HTd/Vqrmsa” ”strong=”l/4325|����/��
x-morph=”OSHM:HR/Ncmpc”�����/���|strong=”d/3220” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.1” ”strong=”c/8210|�/������������/��� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”0.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
� 9 ”strong=”d/1082|����������/�� x-morph=”OSHM:HTd/Vhrmsa”
”strong=”7701|����� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”5794” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”c/7701|�����/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”4013”
x-morph=”OSHM:HNcmsa” ”strong=”935|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 10 ”strong=”8130|��������� x-morph=”OSHM:HVqp3cp”
”strong=”b/8179|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3198|��������� x-morph=”OSHM:HVhrmsa” x-cantillationLevel=”1”
”strong=”c/1696|������/�� x-morph=”OSHM:HC/Vqrmsa” ”strong=”8549|��������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”8581|����������
x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”0”� 11 strong=”l/3651|���/���
c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1.1.1” ”strong=”3282|������
x-morph=”OSHM:HC” ”strong=”1318|����/��������� x-morph=”OSHM:HVmc/Sp2mp”
x-cantillationLevel=”1.1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”1800”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.1” ”strong=”c/4864|��������/��
x-morph=”OSHM:HC/Ncfsc”������|strong=”1250 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”3947|��������� x-morph=”OSHM:HVqi2mp”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.1”
strong=”1004|�������� b” x-morph=”OSHM:HNcmpc” ”strong=”1496|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0.0” ”strong=”1129|����������
x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”����������|strong=”3427” x-morph=”OSHM:HVqi2mp”
”strong=”b|�/��� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”3754|��������
x-morph=”OSHM:HNcbpc”�������|strong=”2531” x-morph=”OSHM:HNcmsa”
”strong=”5193|����������� x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”0.1”
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”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”8354|����������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�/�������|strong=”3196” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0”� 12 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3045|������������ x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0”
strong=”7227|�������� a” x-morph=”OSHM:HAampa” ”strong=”6588|����/���������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.1” ”strong=”c/6099|���������/��
x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”1.0” strong=”2403|����/����������
b” x-morph=”OSHM:HNcfpc/Sp2mp” x-cantillationLevel=”1” strong=”6887|��������
d” x-morph=”OSHM:HVqrmpc” ”strong=”6662|�������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1.0” ”strong=”3947|�������� x-morph=”OSHM:HVqrmpc”
strong=”3724|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/34|������������/�� x-morph=”OSHM:HC/Aampa” x-cantillationLevel=”0.0”
”strong=”b/8179|��������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”5186|�������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0”� 13 strong=”l/3651|����/��
c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.0.1” strong=”d/7919|������������/��
a” x-morph=”OSHM:HTd/Vhrmsa” x-cantillationLevel=”1.0.0” ”strong=”b/6256|����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”1.0” strong=”1826|������� a” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.0.0” ”strong=”6256|���� x-morph=”OSHM:HNcbsa”
strong=”7451|������ c” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.0”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”�
14 ”strong=”1875|��������� x-morph=”OSHM:HVqv2mp”������|strong=”2896
b” x-morph=”OSHM:HAamsa” ”strong=”c/408|���/�� x-morph=”OSHM:HC/Tn”�����|strong=”7451
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0” ”strong=”4616|��������
x-morph=”OSHM:HR” ”strong=”2421|���������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”1” ”strong=”c/1961|����/�� x-morph=”OSHM:HC/Vqj3ms”�����|strong=”3651
c” x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”����������|strong=”6635
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0.0” ”strong=”854|����/�����
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”559|����������� x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”0”� 15 ”strong=”8130|�������� x-morph=”OSHM:HVqv2mp”�����|strong=”7451
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1.0” ”strong=”c/157|��������/��
x-morph=”OSHM:HC/Vqv2mp” strong=”2896|����� b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1” ”strong=”c/3322|����������/�� x-morph=”OSHM:HC/Vhv2mp”
”strong=”b/8179|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”194|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.0.1”
strong=”2603|��������� a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|��������
x-morph=”OSHM:HNcmpc”����������|strong=”6635 b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”7611|���������� x-morph=”OSHM:HNcfsc”
”strong=”3130|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 16 strong=”l/3651|���/��� c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.2.0.1”
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”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.2.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.2” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”����������|strong=”7339” x-morph=”OSHM:HNcfpa”
”strong=”4553|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/b/3605|���/��/�� x-morph=”OSHM:HC/R/Ncmsc”���������|strong=”2351”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”559|���������
x-morph=”OSHM:HVqi3mp” ”strong=”1930|��� x-morph=”OSHM:HTj”�����|strong=”1930”
x-morph=”OSHM:HTj” x-cantillationLevel=”1” ”strong=”c/7121|��������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”406|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”60”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”c/4553|���������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”����������|strong=”3045” x-morph=”OSHM:HVqrmpc”
”strong=”5092|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
17 ”strong=”c/b/3605|���/��/�� x-morph=”OSHM:HC/R/Ncmsc”�����������|strong=”3754”
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.0” ”strong=”4553|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” strong=”3588|����� a”
x-morph=”OSHM:HC”���������|strong=”5674 a” x-morph=”OSHM:HVqi1cs”
”strong=”b/7130|���/�������/��� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 18 ”strong=”1945|����� x-morph=”OSHM:HTj” ”strong=”d/183|�������������/��
x-morph=”OSHM:HTd/Vtrmpa” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������|strong=”3117” x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”l/4100|����/�� x-morph=”OSHM:HR/Ti”������|strong=”2088”
x-morph=”OSHM:HPdxms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0.0” ”strong=”3117|����� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”1931|���� x-morph=”OSHM:HPp3ms”���������|strong=”2822”
x-morph=”OSHM:HNcmsa” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”������|strong=”216”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”� 19 strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”5127|������� x-morph=”OSHM:HVqi3ms”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” strong=”d/738|������/��
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/6293|��/������/��
x-morph=”OSHM:HC/Vqq3ms/Sp3ms” x-cantillationLevel=”1.0” ”strong=”d/1677|�����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/935|����/��
x-morph=”OSHM:HC/Vqq3ms” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.2” ”strong=”c/5564|�������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”3027|���/��� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/7023”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”c/5391|��/�������/��
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a” x-morph=”OSHM:HC/Vqq3ms/Sp3ms” x-cantillationLevel=”0.0” ”strong=”d/5175|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 20 ”strong=”i/3808|���/��
x-morph=”OSHM:HTi/Tn”���������|strong=”2822” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0.0” ”strong=”3117|����� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”������|strong=”216”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”c/651|������/��
x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”0.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”���������|strong=”5051” x-morph=”OSHM:HNcfsa”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 21
”strong=”8130|���������� x-morph=”OSHM:HVqp1cs” strong=”3988|�����������
a” x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0” ”strong=”2282|����/������
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7306|�������� x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”0.0” ”strong=”b/6116|����/�����������/��� x-
morph=”OSHM:HR/Ncfpc/Sp2mp” x-cantillationLevel=”0”� 22 strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”���������|strong=”5927”
x-morph=”OSHM:HVhi2mp”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
strong=”5930|������� a” x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.0.0”
”strong=”c/4503|����/���������/�� x-morph=”OSHM:HC/Ncfpc/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”7521|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1” ”strong=”c/8002|�������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”4806|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5027|��������
x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”0”� 23 ”strong=”5493|������
x-morph=”OSHM:HVhv2ms” strong=”m/5921|�/�����/�� a” x-morph=”OSHM:HR/R/Sp1cs”
x-cantillationLevel=”1.0” strong=”1995|������� a” x-morph=”OSHM:HNcmsc”
strong=”7892|��/������� a” x-morph=”OSHM:HNcbpc/Sp2ms” x-cantillationLevel=”1”
”strong=”c/2172|��������/�� x-morph=”OSHM:HC/Ncfsc” strong=”5035|��/��������
b” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8085|��������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0”� 24 ”strong=”c/1556|�������/�� x-morph=”OSHM:HC/VNi3ms”
”strong=”k/4325|�������/��� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.0”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/6666|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.0”
strong=”k/5158|������/��� a” x-morph=”OSHM:HR/Ncmsa” ”strong=”386|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 25 ”strong=”d/2077|����������/��
x-morph=”OSHM:HTi/Ncmpa” ”strong=”c/4503|��������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0.0.0” ”strong=”5066|������������� x-morph=”OSHM:HVhp2mp”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” strong=”b/4057|����������/�� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”705|������������ x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
strong=”1004|������ b” x-morph=”OSHM:HNcmsc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 26 ”strong=”c/5375|����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0” ”strong=”5522|��������
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x-morph=”OSHM:HNp” ”strong=”4432|����/������� x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.0” ”strong=”3594|��������� x-morph=”OSHM:HNp”
”strong=”6754|����/������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1”
”strong=”3556|�������� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.1.0”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”6213|����������
a” x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”0.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0”� 27 ”strong=”c/1540|�����������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”m/1973|��������/�� x-morph=”OSHM:HR/D”
”strong=”l/1834|����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|��������
x-morph=”OSHM:HNcmpc”����������|strong=”6635 b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� �6 ”strong=”1945|����� x-morph=”OSHM:HTj” x-cantillationLevel=”1.1.0”

”strong=”d/7600|��������������/�� x-morph=”OSHM:HTd/Aampa”
”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”

”strong=”c/d/982|����������/��/�� x-morph=”OSHM:HC/Td/Vqrmpa”
x-cantillationLevel=”1.0” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”8111|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”5344|�������� a” x-morph=”OSHM:HVqsmpc” x-cantillationLevel=”0.1.0”
”strong=”7225|��������� x-morph=”OSHM:HNcfsc” strong=”d/1471|��������/��
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/935|������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
2 strong=”5674|�������� a” x-morph=”OSHM:HVqv2mp” strong=”3641|���������
b” x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.1” ”strong=”c/3212|������/��
x-morph=”OSHM:HC/Vqv2mp” ”strong=”m/8033|������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.0” ”+strong=”2579|������ x-morph=”OSHM:HNp”
”strong=”2579|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3381|������/�� x-morph=”OSHM:HC/Vqv2mp” ”strong=”1661|���
x-morph=”OSHM:HNp”��������������|strong=”6430” x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.1.1” 13 We agree with both BHS 1997 and BHQ on an
unexpected reading. strong=”i/2896|��������/�� a” x-morph=”OSHM:HTi/Aampa”
x-cantillationLevel=”0.1.0” strong=”4480|��� a” x-morph=”OSHM:HR”������������/���|strong=”d/4467”
x-morph=”OSHM:HTd/Ncfpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”0.1” strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”7227
a” x-morph=”OSHM:HAamsa” ”strong=”1366|�/��������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”m/1366|����/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2mp”
13U
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x-cantillationLevel=”0”� 3 strong=”d/5077|����������/��� b” x-morph=”OSHM:HTd/Vprmpa”
x-cantillationLevel=”1.0” ”strong=”l/3117|�����/�� x-morph=”OSHM:HR/Ncmsa”
strong=”7451|���� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1”
”strong=”c/5066|�/������������/�� x-morph=”OSHM:HC/Vhw2mp/Sn”
x-cantillationLevel=”0.0” ”strong=”7675|������� x-morph=”OSHM:HNcfsc”
”strong=”2555|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
4 ”strong=”d/7901|������������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”4296”
x-morph=”OSHM:HNcfpc” ”strong=”8127|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”c/5628|���������/�� x-morph=”OSHM:HC/Vqsmpa”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�/������������|strong=”6210”
x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/398|���������/��
x-morph=”OSHM:HC/Vqrmpa” strong=”3733|�������� c” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”m/6629|������/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/5695|���������/�� x-morph=”OSHM:HC/Ncmpa”
x-cantillationLevel=”0.0” ”strong=”m/8432|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”4770|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
5 ”strong=”d/6527|����������/�� x-morph=”OSHM:HTd/Vqrmpa” x-
cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”6310”
x-morph=”OSHM:HNcmsc” strong=”d/5035|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”k/1732|�������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”2803|��������� x-morph=”OSHM:HVqp3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
”strong=”3627|������ x-morph=”OSHM:HNcmpc”�������|strong=”7892
a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”� 6 ”strong=”d/8354|���������/��
x-morph=”OSHM:HTd/Vqrmpa” ”strong=”b/4219|����������/��� x-morph=”OSHM:HR/Ncmpc”
x-cantillationLevel=”1.1.0” ”strong=”3196|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/7225|���������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”8081|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0”
”strong=”4886|����������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”2470|��������
a” x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”7667” x-morph=”OSHM:HNcmsc”
”strong=”3130|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”
14 Marks a place where we agree with BHQ against BHS in reading L. 15 16 7
strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.0.0”
”strong=”6258|������� x-morph=”OSHM:HD” ”strong=”1540|��������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.0” strong=”b/7218|������/���
a” x-morph=”OSHM:HR/Ncmsa” ”strong=”1540|�������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1” ”strong=”c/5493|����/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0” ”strong=”4797|�������� x-morph=”OSHM:HNcmsc”
”strong=”5628|���������� x-morph=”OSHM:HVqsmpa” x-cantillationLevel=”0”�

14Q
15n Marks an anomalous form.
16p We read punctuation in L differently from BHS.
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� 8 ”strong=”7650|���������� x-morph=”OSHM:HVNp3ms” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” ”strong=”b/5315|��/�������/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1.2.1” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.2” ”strong=”8374|�������� x-morph=”OSHM:HVprmsa”
”strong=”595|��������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”1347” x-
morph=”OSHM:HNcmsc” ”strong=”3290|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/759|�/������������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”8130|���������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” ”strong=”c/5462|��������������/�� x-morph=”OSHM:HC/Vhq1cs”
x-cantillationLevel=”0.0” strong=”5892|����� b” x-morph=”OSHM:HNcfsa”
”strong=”c/4393|��/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-
cantillationLevel=”0”� 9 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0.1” strong=”518|��� a” x-morph=”OSHM:HC”�������������|strong=”3498”
x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0.0.0.0” ”strong=”6235|���������
x-morph=”OSHM:HAcmsa” ”strong=”376|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0.0” strong=”b/1004|������/��� b” x-morph=”OSHM:HR/Ncmsa”
”strong=”259|������ x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0”
”strong=”c/4191|������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0”�
10 ”strong=”c/5375|��/�������/�� x-morph=”OSHM:HC/Vqq3ms/Sp3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”1730|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”c/5635|��/��������/�� x-morph=”OSHM:HC/Vprmsc/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”l/3318|��������/�� x-morph=”OSHM:HR/Vhc”
”strong=”6106|��������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.1.0”
strong=”4480|��� a” x-morph=”OSHM:HR”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.0.0.0” strong=”l/834|�������/��
a” x-morph=”OSHM:HR/Tr” ”strong=”b/3411|�����������/��� x-morph=”OSHM:HR/Ncfdc”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0”
”strong=”i/5750|�����/�� x-morph=”OSHM:HTi/D” strong=”5973|��/������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.0” ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqq3ms” strong=”657|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”2013|���� x-morph=”OSHM:HVpv2ms” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”l/2142|����������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0” ”strong=”b/8034|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 11 strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”2009”
x-morph=”OSHM:HTm” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”6680|��������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1.1” ”strong=”c/5221|�������/�� x-morph=”OSHM:HC/Vhq3ms”
x-cantillationLevel=”1.0.0” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
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strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0”
strong=”7447|���������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
strong=”c/d/1004|�������/��/�� b” x-morph=”OSHM:HC/Td/Ncmsa”
strong=”d/6996|�������/�� b” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0”
”strong=”1233|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
12 ”strong=”d/7323|�/��������/�� x-morph=”OSHM:HTi/Vqi3mp/Sn”
”strong=”b/5553|��������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”5483|�������� b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
strong=”518|���� a” x-morph=”OSHM:HC”�����������|strong=”2790
a” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”b/1241|����������/���
x-morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”������������|strong=”2015” x-morph=”OSHM:HVqp2mp”
”strong=”l/7219|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”4941|���������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/6529|������/�� x-morph=”OSHM:HC/Ncmsc” ”strong=”6666|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”l/3939|��������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”� 13 ”strong=”d/8055|�����������/��
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.0” ”strong=”l/3808|����/��
x-morph=”OSHM:HR/Np” ”strong=”1697|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”d/559|����������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.2” ”strong=”i/3808|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”b/2392|���/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”3947|���������� x-morph=”OSHM:HVqp1cp”
”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0”
strong=”7161|���������� b” x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
14 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0.1.1”
”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs” strong=”6965|�������
b” x-morph=”OSHM:HVhrmsa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0.1.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” strong=”d/6635|����������/�� b” x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”1.0” strong=”1471|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3905|��������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0.0”
”strong=”m/l/935|��������/�� x-morph=”OSHM:HR/Np” ”strong=”2574|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”5158
a” x-morph=”OSHM:HNcmsc” ”strong=”d/6160|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� �7 ”strong=”3541|����� x-morph=”OSHM:HD” ”strong=”7200|����/�������

x-morph=”OSHM:HVhp3ms/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”

x-cantillationLevel=”1.2” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
x-cantillationLevel=”1.1.0” ”strong=”3335|������� x-morph=”OSHM:HVqrmsa”
strong=”1462|������� b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
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”strong=”b/8462|���������/��� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”1.0”
”strong=”5927|������� x-morph=”OSHM:HVqc” ”strong=”d/3954|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm”��������|strong=”3954” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”310|������ a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0” ”strong=”1488|�������� x-morph=”OSHM:HNcmpc”
”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.2.2”
strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3615” x-
morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.2.1” ”strong=”l/398|�������/���
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2.0” ”strong=”853|��� x-
morph=”OSHM:HTo”��������|strong=”6212” x-morph=”OSHM:HNcmsc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.2”
”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1.1”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”5545|�������
x-morph=”OSHM:HVqv2ms”�����|strong=”4994” x-morph=”OSHM:HTe”
x-cantillationLevel=”1.1” ”strong=”4310|���� x-morph=”OSHM:HTi” strong=”6965|�������
b” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”3290|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” strong=”6996|������ b” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 3 ”strong=”5162|������ x-morph=”OSHM:HVNp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|��������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 4 ”strong=”3541|����� x-morph=”OSHM:HD”
”strong=”7200|����/������� x-morph=”OSHM:HVhp3ms/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”7121|������ x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.0.0” ”strong=”l/7378|����/�� x-morph=”OSHM:HR/Vqc”
”strong=”b/784|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.0”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/398|���������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”8415” x-morph=”OSHM:HNcbsa”
strong=”7227|������� a” x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/2506 a”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 5 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.1.1” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”2308|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
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x-morph=”OSHM:HTe” x-cantillationLevel=”1.1” ”strong=”4310|���� x-morph=”OSHM:HTi”
strong=”6965|������� b” x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0”
”strong=”3290|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”6996|������ b”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” x-cantillationLevel=”0”� 6 ”strong=”5162|������
x-morph=”OSHM:HVNp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”2063”
x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1” ”strong=”1571|���� x-
morph=”OSHM:HTa”������|strong=”1931” x-morph=”OSHM:HPp3fs” x-
cantillationLevel=”0.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 7 ”strong=”3541|����� x-morph=”OSHM:HD”
”strong=”7200|���/������� x-morph=”OSHM:HVhp3ms/Sp1cs” x-cantillationLevel=”1.1”
”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.0.0” ”strong=”5324|�������
x-morph=”OSHM:HVNrmsa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”��������|strong=”2346” x-morph=”OSHM:HNcfsc”
”strong=”594|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/b/3027|��/����/��/�� x-morph=”OSHM:HC/R/Ncbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”594|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.1”
”strong=”4100|���� x-morph=”OSHM:HTi”��������|strong=”859 a” x-
morph=”OSHM:HPp2ms” ”strong=”7200|������ x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1.0” ”strong=”5986|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.0” ”strong=”594|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.1.2”
”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs” strong=”7760|�����
a” x-morph=”OSHM:HVqrmsa” ”strong=”594|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.1” ”strong=”b/7130|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.1.0” strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”3254”
x-morph=”OSHM:HVhi1cs” ”strong=”5750|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0.0” strong=”5674|������� a” x-morph=”OSHM:HVqc”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 9
”strong=”c/8074|�����������/�� x-morph=”OSHM:HC/VNq3cp” x-cantillationLevel=”1.1.0”
”strong=”1116|�������� x-morph=”OSHM:HNcfpc” ”strong=”3446|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/4720|������������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”1.0” strong=”2717|���������� b” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1” strong=”c/6965|���������/�� b” x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”0.0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3379|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”b/2719|������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� � 10 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”558|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”3548|������� x-morph=”OSHM:HNcmsc”
”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”3379”
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”7194|�������
x-morph=”OSHM:HVqp3ms” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.2.1.0” ”strong=”5986|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1” ”strong=”b/7130|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.2.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”3201” x-
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11 ”strong=”2009|������� x-morph=”OSHM:HTm” x-cantillationLevel=”1.1.1.0”
� ”strong=”3117|������� x-morph=”OSHM:HNcmpa” ”strong=”935|��������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1.1” ”strong=”5002|������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/7971|��������������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”7458|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”b/776|������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”7458” x-
morph=”OSHM:HNcmsa” ”strong=”l/3899|��������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.2.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�������|strong=”6772”
x-morph=”OSHM:HNcmsa” ”strong=”l/4325|�������/�� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0.2” strong=”3588|����� b” x-morph=”OSHM:HC” strong=”518|���
b” x-morph=”OSHM:HC”��������/���|strong=”l/8085” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”1697|��������� x-morph=”OSHM:HNcmpc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 12 ”strong=”c/5128|������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0” ”strong=”m/3220|�����/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”5704|��� x-morph=”OSHM:HR”�����|strong=”3220”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/m/6828|��������/��/��
x-morph=”OSHM:HC/R/Ncfsa” x-cantillationLevel=”1.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”���������|strong=”4217” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”7751|������������� a” x-morph=”OSHM:HVoi3mp”
x-cantillationLevel=”0.0.0” ”strong=”l/1245|��������/�� x-morph=”OSHM:HR/Vpc”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1697” x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”4672|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0”� 13 ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.0.0.1”
”strong=”5968|���������������� x-morph=”OSHM:HVti3fp” x-cantillationLevel=”0.0.0.0”
”strong=”d/1330|����������/�� x-morph=”OSHM:HTd/Ncfpa” ”strong=”d/3303|��������/��
x-morph=”OSHM:HTd/Aafpa” x-cantillationLevel=”0.0.0” ”strong=”c/d/970|�����������/��/��
x-morph=”OSHM:HC/Td/Ncmpa” x-cantillationLevel=”0.0” ”strong=”b/6772|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 14 ”strong=”d/7650|��������������/��
x-morph=”OSHM:HTd/VNrmpa” x-cantillationLevel=”1.2.0” ”strong=”b/819|���������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”8111|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”1.1.1” strong=”2416|���� a” x-morph=”OSHM:HAamsa”
”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1.1.0”
”strong=”1835|����� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”c/2416|����/��
a” x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.0” ”strong=”1870|��������
x-morph=”OSHM:HNcbsc” ”+strong=”884|������� x-morph=”OSHM:HNp”��������|strong=”884”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/5307|��������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”����������|strong=”6965 b” x-morph=”OSHM:HVqi3mp”
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”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0”� �9 ”strong=”7200|��������� x-morph=”OSHM:HVqp1cs” ”strong=”853|���
x-morph=”OSHM:HTo”�/��������|strong=”136” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.1.2.0” ”strong=”5324|������� x-morph=”OSHM:HVNrmsa”

strong=”5921|���� a” x-morph=”OSHM:HR”�����������/���|strong=”d/4196”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.2” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”5221|����� x-morph=”OSHM:HVhv2ms”
”strong=”d/3730|�����������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1.0”
”strong=”c/7493|�����������/�� x-morph=”OSHM:HC/Vqi3mp” strong=”d/5592|���������/��
b” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1” ”strong=”c/1214|��/�������/��
x-morph=”OSHM:HC/Vqv2ms/Sp3mp” x-cantillationLevel=”1.1.0” strong=”b/7218|������/���
a” x-morph=”OSHM:HR/Ncmsc” ”strong=”3605|�/������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/319|�/����������/�� x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”b/2719|������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”2026|�������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”5127” x-
morph=”OSHM:HVqi3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”5127|���� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”����������|strong=”4422”
x-morph=”OSHM:HVNi3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” strong=”6412|�������� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 2 strong=”518|��� a” x-morph=”OSHM:HC”������������|strong=”2864”
x-morph=”OSHM:HVqi3mp” ”strong=”b/7585|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”m/8033|������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.0” ”strong=”3027|�/����� x-morph=”OSHM:HNcbsc/Sp1cs”
”strong=”3947|�/�������� x-morph=”OSHM:HVqi3fs/Sp3mp” x-cantillationLevel=”1”
strong=”c/518|����/�� a” x-morph=”OSHM:HC/C”���������|strong=”5927”
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.0” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.0” ”strong=”3381|�/���������
x-morph=”OSHM:HVhi1cs/Sp3mp” x-cantillationLevel=”0”� 3 strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”������������|strong=”2244” x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”1.1.0” strong=”b/7218|������/��� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3760|���������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.1”
”strong=”m/8033|������/�� x-morph=”OSHM:HR/D” ”strong=”2664|����������
x-morph=”OSHM:HVpi1cs” x-cantillationLevel=”1.0” ”strong=”c/3947|�/�����������/��
x-morph=”OSHM:HC/Vqp1cs/Sp3mp” x-cantillationLevel=”1” strong=”c/518|���/��
a” x-morph=”OSHM:HC/C”�������������|strong=”5641” x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”0.1.0.0” ”strong=”m/5048|�������/�� x-morph=”OSHM:HR/R”
strong=”5869|��/����� a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”b/7172|��������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”d/3220|�����/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.0.0” ”strong=”6680|���������
x-morph=”OSHM:HVpi1cs” ”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/5175”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” strong=”c/5391|�/��������/��
a” x-morph=”OSHM:HC/Vqp3ms/Sp3mp” x-cantillationLevel=”0”� 4 strong=”c/518|���/��



38 CONTENTS

a” x-morph=”OSHM:HC/C”���������|strong=”3212” x-morph=”OSHM:HVqi3mp”
strong=”b/7628|��������/�� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”341|����/�������
x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”1.1” 19 We agree
with both BHS 1997 and BHQ on an unexpected reading. ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”1.0.0” ”strong=”6680|���������
x-morph=”OSHM:HVpi1cs” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/2719”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”c/2026|�/���������/��
x-morph=”OSHM:HC/Vqp3fs/Sp3mp” x-cantillationLevel=”1” strong=”c/7760|����������/��
a” x-morph=”OSHM:HC/Vqp1cs” strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0.0”
strong=”l/7451|������/�� c” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”l/2896|�������/��
c” x-morph=”OSHM:HR/Aafsa” x-cantillationLevel=”0”� 5 ”strong=”c/136|�/������/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” strong=”d/6635|����������/�� b” x-morph=”OSHM:HTd/Ncbpa”
x-cantillationLevel=”1.1.1” ”strong=”d/5060|���������/�� x-morph=”OSHM:HTd/Vqrmsa”
”strong=”b/776|�������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”c/4127|��������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1”
”strong=”c/56|��������/�� x-morph=”OSHM:HC/Vqp3cp” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/5927|��������/�� x-morph=”OSHM:HC/Vqp3fs”
”strong=”k/2975|������/�� x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0.1.0”
”strong=”3605|��/������� x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.1”
”strong=”c/8257|���������/�� x-morph=”OSHM:HC/Vqp3fs” x-cantillationLevel=”0.0”
”strong=”k/2975|�����/��� x-morph=”OSHM:HR/Np” ”strong=”4714|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0” 20 Marks a place where we
agree with BHQ against BHS in reading L. 21 22 6 ”strong=”d/1129|��������/��
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”b/8064|�����������/�� x-morph=”OSHM:HRd/Ncmda”
x-cantillationLevel=”1.1.0” strong=”4609|�/����� b” x-morph=”OSHM:HNcfpc/Sp3ms”
x-wType=”x-ketiv” 23 ”strong=”c/92|��/���������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsa” ”strong=”3245|��/������� x-morph=”OSHM:HVqp3ms/Sp3fs”
x-cantillationLevel=”1” ”strong=”d/7121|�������/�� x-morph=”OSHM:HTd/Vqrmsa”
”strong=”l/4325|����/�� x-morph=”OSHM:HR/Ncmpc”�����/���|strong=”d/3220”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.1” ”strong=”c/8210|�/������������/���
x-morph=”OSHM:HC/Vqw3ms/Sp3mp” x-cantillationLevel=”0.0.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”6440” x-morph=”OSHM:HNcbpc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0”
19U
20Q
21n Marks an anomalous form.
22p We read punctuation in L differently from BHS.
23+ strong=”4609|�/������������/����� b” x-morph=”OSHM:HNcfpc/Sp3ms” x-
cantillationLevel=”1.1”
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”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”8034|��/�����
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”� 7 ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” strong=”k/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3569|����������� x-morph=”OSHM:HNgmpa” strong=”859|�������
d” x-morph=”OSHM:HPp2mp” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”5927|������������
x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”0.1.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/6430|����������������/�� x-morph=”OSHM:HC/Ngmpa”
”strong=”m/3731|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”c/758|������/�� x-morph=”OSHM:HC/Np” strong=”m/7024|������/��
b” x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 8 ”strong=”2009|�������
x-morph=”OSHM:HTm” x-cantillationLevel=”1.2.1.1” strong=”5869|�������
a” x-morph=”OSHM:HNcbdc” x-cantillationLevel=”1.2.1.0” � ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”b/4467|�����������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1.2.0” ”strong=”d/2400|���������/��� x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1.2” ”strong=”c/8045|��������������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”1.1”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” x-cantillationLevel=”1.0”
”strong=”6440|������� x-morph=”OSHM:HNcbpc” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” strong=”657|������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0.0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8045|���������� x-morph=”OSHM:HVha”
”strong=”8045|���������� x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004 b” x-morph=”OSHM:HNcmsc”
”strong=”3290|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 9 strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”2009” x-morph=”OSHM:HTm”
”strong=”595|��������� x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0”
”strong=”6680|��������� x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.1”
”strong=”c/5128|�����������/�� x-morph=”OSHM:HC/Vhp1cs” ”strong=”b/3605|����/��
x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/1471 a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”5128|���������� x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”0.1.0”
”strong=”b/3531|���������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”���������|strong=”5307”
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x-morph=”OSHM:HVqi3ms” strong=”6872|������� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 10 ”strong=”b/2719|������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”4191|��������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”2400|��������� x-morph=”OSHM:HAampc” strong=”5971|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”d/559|���������/��
x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.0.1” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”5066” x-morph=”OSHM:HVhi3fs”
”strong=”c/6923|����������/�� x-morph=”OSHM:HC/Vhi3fs” x-cantillationLevel=”0.0.0”
”strong=”5704|���/��������� x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0”
strong=”d/7451|������/�� c” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�
11 ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1” strong=”6965|�������
b” x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”5521” x-morph=”OSHM:HNcfsc”
”strong=”1732|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”d/5307|���������/�� x-morph=”OSHM:HTd/Vqrfsa” x-cantillationLevel=”1”
”strong=”c/1443|�����������/�� x-morph=”OSHM:HC/Vqq1cs” ”strong=”853|���
x-morph=”OSHM:HTo”����/���������|strong=”6556” x-morph=”OSHM:HNcmpc/Sp3fp”
x-cantillationLevel=”0.1.1” ”strong=”c/2034|��/����������/�� x-morph=”OSHM:HC/Ncfpc/Sp3ms”
x-cantillationLevel=”0.1.0” strong=”6965|������� b” x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”0.1” ”strong=”c/1129|��/���������/�� x-morph=”OSHM:HC/Vqp1cs/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”k/3117|�����/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”5769|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”4616|�������� x-morph=”OSHM:HR” ”strong=”3423|�����������
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����������|strong=”7611” x-morph=”OSHM:HNcfsc”
”strong=”123|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1” strong=”834|������
a” x-morph=”OSHM:HTr”���������|strong=”7121” x-morph=”OSHM:HVNp3ms”
”strong=”8034|�/������ x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsa” ”strong=”2063|������ x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”0”� � 13 ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” ”strong=”935|��������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.2.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/5066|��������/�� x-morph=”OSHM:HC/VNq3ms”
strong=”2790|�������� a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0”
strong=”b/7114|�������/��� b” x-morph=”OSHM:HRd/Vqrmsa” x-cantillationLevel=”1.1”
”strong=”c/1869|�������/�� x-morph=”OSHM:HC/Vqrmsc” ”strong=”6025|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” ”strong=”b/4900|��������/���
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x-morph=”OSHM:HR/Vqrmsc” ”strong=”d/2233|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5197|����������/�� x-morph=”OSHM:HC/Vhp3cp”
”strong=”d/2022|�������/��� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0”
”strong=”6071|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”����������/���|strong=”d/1389”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.0” ”strong=”4127|����������������
x-morph=”OSHM:HVri3fp” x-cantillationLevel=”0”� 14 ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.3.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”7622” x-morph=”OSHM:HNcfsc”
strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.3” ”strong=”c/1129|������/��
x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.2.0.0” strong=”5892|�������
b” x-morph=”OSHM:HNcfpa” ”strong=”8074|����������� x-morph=”OSHM:HVNrfpa”
x-cantillationLevel=”1.2.0” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqq3cp”
x-cantillationLevel=”1.2” ”strong=”c/5193|��������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”3754|��������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1”
”strong=”c/8354|�������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”3196” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” strong=”c/6213|�������/�� a” x-morph=”OSHM:HC/Vqq3cp”
”strong=”1593|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1”
”strong=”c/398|��������/�� x-morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����/�������|strong=”6529”
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 15 ”strong=”c/5193|�/�����������/��
x-morph=”OSHM:HC/Vqq1cs/Sp3mp” x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/����������|strong=”127” x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”5428|������������ x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0.1.1.0”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.1.1” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”127|��/�������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5414|��������� x-morph=”OSHM:HVqp1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”430|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms”
x-cantillationLevel=”0”�


